EARAROBREBRT —5 XN—ZXBISH—F 20224638298 (X)) 19EAH?2H

5S> %—ix C3FAIN BN
[AE%) 1 %&:800,000 M ~ 23#&:320,000  337%:200,000H . 43#%:120,000  ~ 5 37&:80,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
115/ 9| T—IFvra bk Ho4 15“%“8% 1:14.6 3-3 37.9| - 1 496 EE}E@ (1K)
3 (_) B =4
RiO—kHF07 B:I—LFYI7LS QE =it
» v 5 | HIEEE 1:14.7 2-2 38.2| — 5 467 | EEHE (W)
7 11| 7«4 T—ILIKR 56.0 (1/2) BN
] RIFUPLRIVR 8Py FITA— )| S
30111 YY1 T—2 4 6 %E%)E (1 3115/243 7-6 38.4| — 7 454 gﬁgi— (KFH)
QIRDTFRF—I7—R—K BOIRIVRILFI O 1 5IX5v57—1n
g A eelEmE | w7 e e
RivavFvhvy #B:I59U8vaNY (-2 IS5 VHBRES
_5 _ o6 | SHE 1:15.7 6-7 8.8 — | 10 | 471 |BEEZ H)
51213 /~77a-Fv 54.0 a2 ) | EEE
R:72UA—=Y B:FoEAT7Y IR SERE
0= B 5 | AEEKR 1:15.7 10-10 | 38.0| — 4 | 467 |BOBEZ (KH)
Y 2 KREERAE 54.0 (28) SHBC
] QAREFY BT TyFIUR AR i ST P
4t 5 | NOEERDRE 1:15.7 1-1 9.2 - 6 476 | BETS (I
7|50/ F27 /2 54.0 F9%) ) | @ SEens
RYHRI4 ISR B:5Y—7 BiERS
=~ o6 | MRS 1:15.7 5-5 38.8| — 2 457 | TR (KH)
g8l1l2/EF/FavTy 56.0 N\F) oy | A TEESF
RIFVIARZAN B:SRAFUFRF—S D | s
W — 8 4 | BARE 1:16.0 15-13  [37.9| - 8 405 | HERHEKR (KH)
7eyhI-A . %.0 (1172 () |PEIET
RIDT—)UNI—R B:YIHNSF ito%us
B S—L 44 %ﬁ%ic 1:(17).1 12-12 [39.2| — | 13 | 419 l{gﬁ:ﬁ C=:)
o 5) = =
RiAVTFhF—D7—R—R YT /(Y- &) | hrgvzasvr
W tv 4 gélﬁsoﬁ“fﬂ 1(:17.)2 8-9 4.0 - 1 478 ﬁ%ﬁﬁ (K#)
: 3/4 ;
RITFAIWNIFFE— BU— RS A 0| s
JaE9 0439 £ 5 @E?EE 1(:17.)3 9-8 9.9 — | 12 | 49 Hﬁ%ﬁﬂ% (K#)
: Je ~ —
R:HvhaLO B:IRD—ILIIL— (-6) gﬁﬁﬂtﬁ—
S B9 | ANER 1:17.3 13-14  [39.4| - | 15 | 517 |=EEH H)
tﬂ/ TZT’(. o 54.0 F9) () | SEEE
RIZRXAIVKR B:D—ILRTIRY 75 NS
MIAYTFYIR B4 Su%ﬁf%% (11:137/18 14-15  |39.6| — 9 | 434 ggg §(7(#)
RFARTU— PPy BOTAISYF— 40 | S YpXy - T —LERE
SINES it 4 | AREREES 1:17.7 11-11 | 40.0| - 14 | 442 |BEEH KH)
151815 /7\./\3-_77\D“Z- T, A51.0 e (-5) @Hg__
RINZ=NDYR B:IrD—LT7Y =7y ]
16012l Yavva—Fov o4 EE(;J%E? 1:(117).9 16-16 | 39.6| — | 16 | 416 Egzﬁ (KH)
RALYTSwIEL BROTRS—IL 3 ROmeE
@ 11— —BBIEfI
13—7F—
20—7F—
Sal=zr= 10,11,9,5,2,13,1,14,6,3,15,4,7,16,8,12
43—F— 10,11,9,5,2,1,13,6,14,3,15,4,8,7,16,12
o ILRE
B B 9 310 | [ D1 R 9-11 550M4 % 5E 5-6 790H4 3EE 1-9-11 4,690
7B B 9 160/ 1-9 850/ B 5-6 1,290 3EH 9-11-1 17,340
1 220/ 1-1 1,750/ 5B & 9-1 1,170
1 320 BB 9-11 2,220M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



